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DO2ION IO MIVIANI DODVVIN 2T —

DYND) MNINAD NNANT MNP DXNYD NN DMWY NPPVNNN MNNN P2 PITTN NNRY”
P2 TN NNYYOY IDIVA NIYII DNNT — TI INT TIY RIN DT IIND .Y NPy
I2ON PAD NN

59PN MM Y89 1 (a® +b* #0) DY a,b DM9ONY 1 NIYIN P,(x) DIV

LN .NO2I0MY NOYIN N TIT TN L,DOPHND TPSNLVIN NVOY Y J.e‘”‘Pn(x)cos bx dx
"Tables of integrals and other mathematical NNNDN YY DONAN 19DV ,NDON ,NINID
: ORI DDNVIN DY D1V OMPN P DIV’ H.B. Dwight NN data"

,P.(x)=x",b=0 5avanvmnannnon .x

, P (x)=1 ava nvnan nnon .2

2995 15w YOI NNOM Py(x) = X", n=1,...,6,a=0,b=1 D>aw2 MYNON MNNDN  .)

M55 MY NNDN NPON NVIVI TITA DIAPY NIVANND NPIDN NV [, NNT NNYD
PN NNY WINYD NI NIOX NV NOYINY ©OIN DN DNDOLPNN Dava

— Qu(x), Ry(x)¥9> ap H90n — C wWrd e”[Q, (x)cosbx + R (x)sinbx]+C
NINDD W DIPNRTPN NN IUN 1 NOYNN DM
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WETIT INIW
e“P(x) cosbx = e“[aQ, (x) + Qn/(x) + bR (x)] cosbx+
e“[-bQ (x) + aR (x) + R/ (x)] sinbx
: sinbx =Y cosbx Y DMPNO MYN ™ -2 ONNN)

P,(x) =aQ,(x)+Q,(x)+bR, (x) (1)
0=-bQ, (x)+aR (x)+ R,i (x)
JMNNNA P, O, R -5 W 910990 P(x), Q,(x), R,(x) DINN9 DY DMTPN NVPI YI0)

2(n + 1) 9700 DPINDD MNNIVNI NN NP (1) novn

P=AQ+bR (2)
0=-bQ+AR

2 1+ 19700 NINYY NYDIVN NNIVN NN A IWNA

al0OO0..00

IYN NRNYNN NN, b -2 NN DY NNYRIN IRNYNN NN 52933 (2) NIIYN 1IN »T
NN 2NN ONNYN A -2

N8N NN A + BT NN .1+ 1 ToN NN NN — 1, bP = (A* + BI)R, 1
,M12°90 NN 19 SYNRIN NOIONRN DY (0 ¢)b2 a’ + 90N YN N2 N ,MPYY NUNIWUN
‘R MDY 190 RN (A + b7 NHw 19991 NISNY WP PN)

R = (A> + V’I)'bP (3)
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DI0N VW MYYINI DOVYIN DT

SPINRNDYNA A -1 NN DY MIIYRIN IRNYNN DX D293) — TION NYY) O NVPY NNONNDD
S¥ YN NRNWNA (3) 2809 03 Y1) AP = (A + b’1)Q YN 10NN b -1 MMWN NN
& (b#0-) b=0:0P0 7MY PATIND W IN TN ,(2)

.0 = (A’ + V’I)'AP (4)

A NXMON O PN L(2) NOWNN AR DIODMPN NON DINVPI IRV [ NTI NANN Y
(A7 + D°I)" v 19NN DY D) NOYNNN NN 199 ,A° + b1 N¥ILN DY NANNN

:(2) NOYN SV NNIYRIN NIRNYNIA DN

A(A? + V'I)'AP + b(A? + D’I)'bP = (A* + V°I)'A’P + (A + V1) b°P =

(A2 + V’D7"(A* + V'DP =IP = P

:(2) DOYN DY NMIYN NRNYNL DN

-bA” + V'I)'AP + A(A” + b’I)'bP = -bA(A® + b°I)'AP + bA(A® + b°I)'AP = 0

: 2N 92PN (3) ,(4) DN TPN Y R.(x), O,(x) DIDINIDIN NN NN

Ie“Pn (x)cosbxdx = e[ Q.(x) cos bx + R,(x)sinbx | + C

: 1 nonT
Iez" Bx+1)cosxdx SNOPN VN

n=1a=2b=1P={13}: N9

2 1 , (2 1) (21 4 4 , 5 4
A= = A= = => A+ b= =
0 2 0 2,10 2 0 4 0 5
5 4 5 -4\ (1 -7
(A2 + VD) =57 [0 5) = R= '2[0 s j {3}:5‘2{15} =R(x ) = 5%(-7+15x)
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Q—5‘25 AR P s e DRI QS = 0,(x) = 541 + 30x)
2o s/lo 2)13[7 Lo 516/ =" 130 = g

Ie“ Bx+Dcosxdx =52e*[(1+30x)cosx+ (=7 +15x)sin x]+C : n2wn

: 2 NNT
je" x*cos2xdx HSVIN YN

n=2a=1"b=2P={001}: VN3

110 110 (110 122 522
A=|012|=>A=]012]]|012|=|014 | =>A+bI=|054| =
001 001)1001 001 005

25-10 -2 25-10 -2 [0 -4
A+ =570 25-20| =>R=57]0 25-20[40} =57¢-40} =
0 0 25 0 0 25)|2 50

Ry(x ) = 57(-4 - 40x + 50%°)

25-10 =2 Y(110) (0 25-10 =2\ (0
0=5710 25-20([012(40t=57] 0 25-20(12
0O 0 25/1001) (2 0O 0 2511
-22
=573 30} = 0x(x) = 57(-22 + 30x + 25x%)
25
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Ie" x*cos2xdx =57e"[(-22+30x + 25x%) cos 2x + (=4 —40x + 50x%)sin 2x] + C
. I e™ P (x)sin bx dx 570N NMT NNDN HAPY NI NVOY NNINA

.0 =-(A+b’)'bP, R = (A’ + b’I)'AP -y mpna
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